ﬂé Division (International) with a Hel per Grid Name:

Solve each problem. Answers
1) 420 : 3 = 2) 182 : 2 =
1
2
3.
4,
5.
6.
3 512: 6 = 4 820 : 3 =
5 533 : 8 = 6) 136 : 4 =
M ath 1-6 [83]67|50[33[17] 0]
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ﬂé Division (International) with a Hel per Grid Name: Answer Key
Solve each problem. Answers
1) 420 : 3 =140 2 182 : 2 =091
-3 -0 1. 140
12 18
S102 18 2 91
00 02
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4 273r1l
5, 6615
6. 34
3 512 : 6 =085r2 4d 820 : 3 =273r1
-0 -6
51 22
-l4/8 .21
32 10
-13/0 -9
2 1
5 533: 8 = 0665 6) 136 : 4 =034
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-4'8 -12
53 16
-14'8 -116
5 0
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